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Solution 

∴ Vapour pressure increase, Boiling point 

decrease. ∆Hmix > 0, ∆Vmix > 0 

Maximum freezing point for minimum no. of 

ions  

  i = 2 

π = iCRT 

π = 2 x 0.1 x 0.0821 x 300 

   = 4.92 atm 

In osmosis solvent molecules move from 

solvent to solution 

o o o

A B A B
P P P X+ −   

⇒ 340 = 360 + (320 – 360)XB 

340 = 360 – 40XB ⇒ 40XB = 20 ⇒ XB = 
1

2
 

log Kc = 
o

cellnE

0.0591
 

log 10
10

 = 
o

cell2 x E

0.0591
 

o

cell

10 x 0.0591
E

2
=  = 10 x 0.0295 

   = 0.295 V
 

-50.6 x 10
3
 = -2 x 96500 x E

o
 

         E
o
 = 0.26 V 

HOAC HCl NaOAC NaCl

∞ ∞ ∞ ∞Λ = Λ +Λ −Λ  

      = 426.2 + 91 – 126.5   ;   = 390.7 

Ps = ( )

01. Answer (2) 

      In positive deviation from Raoult’s Law  

A – B interaction < A – A & B – B interactions 

02. Answer (4) 

03. Answer (3) 

04. Answer (2) 

05. Answer (3) 

06. Answer (1) 

07. Answer (3) 

NaCl → Na
+
 + Cl

-
  

∆G
o
 = -nFE

o
 

08. Answer (2) 

09. Answer (2) 

10. Answer (3) 

11. Answer (3) 

12. Answer (3) 

 13. Answer (4)

Zn(s) + 
2

(0.01M) (0.01M) (s)2Ag Zn 2Ag+ +→ +  

Q = 

2

2 2

Zn 0.01
100

(0.01)Ag

+

+

   = =
  

 

E = E
o
 - 

2

2

Zn0.059
log

2 Cu

+

+

    
 
    

 

Lesser the value of 

2

2

Zn

Cu

+

+

  
 

Ecell  greater will be the 

 

k = 
1/2

0.693 0.693

t 480
= = 1.44 x 10

-3
 s

-1 

Zn + Cu
+2

 → Zn
+2

 + Cu 

− +∆ ∆
=

∆ ∆
 

1 [Br ] 1 [H ]

5 t 6 t

change in concentration of ‘C’ so the order 

with respect to ‘C’ is zero 

from (1) and (4). 
x3

3

1.25 x10 0.005

5 x10 0.01

−

−

 =  
 

 

⇒ 0.25 = (0.5)
x
 ⇒ x = 2  

From (1) and (2) no change in rate with 

2 2

1 2 3

CH CH CH Br= − −  

3-bromoprop-1-ene 

14. Answer (4)  
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15. Answer (1) 

16. Answer (2) 

17. Answer (2) 

18. Answer (3) 

19. Answer (1) 

20. Answer (4) 

21. Answer (1) 

22. Answer (1) 

23. Answer (3) 23. Answer (3) 

24. Answer (3) 

25. Answer (2) 

26. Answer (1) 

27. Answer (3) 

28. Answer (4) 

30. Answer (2) 

3

3

3

CH
|

CH C Br
|
CH

− − Alc.KOH

∆
→

3

3 2

CH
|

CH C CH− =

   2 2

HBr

R O
→

3

3 2

CH
|

CH CH CH
|
Br

− −  

3

3

CH ClRed Hot

6 6Fe AlCl
C H→ →

  

2 2

3

CrO Cl

H O+→
 

 

 
Haloarene less reactive towards substitution, 

due to conjugation.  

linear 

→  N2 ↑ + Cr2O3 + 4H2O 

Ba(N3)2 
∆→  3N2 ↑ + Ba 

2Pb(NO3)2 673K

∆→ 4NO2 + 2PbO + O2 

Deficiency of vitamin B6 causes convulsions  

C2H2

F – Xe – F  

(NH4)2Cr2O7 
∆

29. Answer (4) 
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32. Answer (2) 

33. Answer (1) 

34. Answer (2) 

35. Answer (3) 

36. Answer (1) 

37. Answer (4)

39. Answer (3) 

40. Answer (2) 

41. Answer (3) 

42. Answer (2) 

43. Answer (3) 

44. Answer (4) 

31. Answer (1) 

38. Answer (4) 

45. Answer (2) 
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